
 

5/10/2023 www.lumingen.com 

InstallaƟon &  
Maintenance Manual 

SLD-HM-XXXX & HELOS-PLUS-XXXX 

IMPORTANT SAFETY INSTRUCTIONS MesuresÊdeÊSécuritéÊàÊRes-
pecter 

This product must be installed in accordance with the applicable installa-
tion code by a person familiar with the construction and operation of the 
product and the hazards involved. 

CeÊproduitÊdoitÊêtreÊinstalléÊselonÊleÊcodeÊd’installationÊpertinent,ÊparÊuneÊ
personneÊquiÊconnaîtÊbienÊleÊproduitÊetÊsonÊfonctionnementÊainsiÊqueÊlesÊ
risquesÊinhérents. 

Surface/Pendant	LED	Luminaire—Certiϐied	to	Canada/US	Standards  
CSA	C22.2	No. 	250.0  
UL1598, 	3rd	Edition  

Su ita b le  f or  We t  L oca Ɵo ns .  Conv ient Êaux Êemplacements Êmou i l lés .  

In sta l l  wi th  m i ni mu m  s pac i ngs  o f  3 0 cm  ( 1  Ō)  b et w ee n to p o f  lu m in a ire  an d th e c ei l i ng .  
Ins ta l l e r Êavec Êdes Êespacements Êm in imumÊde Ê30Ê cm Ê(1 ÊFT) Êen tre Êhaut Êde Ê lumina ire Êau Êp lafond.  

No t su ita b le  f or  c ei l i ng  m ou nt  ap pl ica Ɵo n .  Ne Êconv ien t Êpas Êaux Êapp l i caƟons Êde Êmontage Êau Êp la-
fond.  

Kee p pr ot ec Ɵ ve  barr ier  i n  p lac e .  NeÊpas Êen lever Ê l ’é cran Êpro tec teur .  

Mou nt  t hi s  l um ina ir e  us ing  o nl y  t he  m ou nƟ ng  bra cke t  su p pl ie d b y th e man u fac tur er  or  s im i lar .  
MountÊ ce Ê luminaire ÊuƟ l isant Êun iquementÊ le Êsuppor t Êde Êmontage Ê fourn i Êpar Ê le Ê fabr i can t Êou Ês im i-
la i re .  

Twi st - on wir e  c on ne c tor s  ar e  no t  re -usab l e.  R ep lac e o nl y  w it h  un - use d we at her pro o f  tw is t -on  
wir e  c on ne ct or s .  Remplacer Êun iquementÊavec Êde ÊnouveauxÊ in tempér ies Ê tw is t -onÊ connec teurs Êde Ê
fi ls .  

Min  90 °C  su pp l y c on du ct or s .  Les Êfi ls Êd ’a l imentaƟonÊdo iven t Ê conveni r Êpour Ê90°C.  

No t f or  us e in  d w el l i ngs . ÊNe Êpas ÊuƟl iser Êdans Ê les Ê logements .  

Basic	Information	(in	millimeter)  

Brief	Introduction  

LED Pendant,  Pole,  and Genera l High Mast Luminaire.  Su itable for  Wet LocaƟons.  

Wiring	 Instructions  

Wiring is be terminated outside the enclo-
sure from the supplied whip exiƟng the 
fixture. 

Where applicable, ensure the enclosure of 
electrical components are properly 
grounded to earth ground. 

Be aware of potenƟal hazards when in-
stalling or servicing.  

Power off AC main supply before installing 
or servicing. 

Wiring from LED 
Driver to AC Supply, or 
LED Driver Terminal 
Block Colouring 

Wiring for 0-10V  
Dimming 

AC/Line 100/277/347/480V Supply ConnecƟon (Black)

AC/Neutral ConnecƟon (White) 

Earth Ground ConnecƟon (Green) 

Dim + ConnecƟon (Violet, or as Labeled) 

Dim ‒ ConnecƟon (Grey, or as Labeled) 

264579 

DANGER 

High Voltage. 
Turn off power 

before servicing. 

 ! 

Max Weight: 20kg 

VenƟlaƟng holes in the fixture are criƟcal for proper fixture funcƟon. When installing, ensure proper posi-
Ɵoning, orientaƟon, and spacing of the fixture to any obstrucƟon in the immediate environment. 



 

5/10/2023 www.lumingen.com 

1  2  

    

Pendant stem, chain, or hang-
er sets not included with fix-
ture. 
 
Pendant hanger shown is for 
representaƟon only. Alterna-
Ɵve, pendant kits can be used. 
 
 
 
 
Supplied Hardware: 
· Bracket with eyebolt 
· (OpƟonal) Galvanized air-

craŌ cable with gripper* 

Loop around appropriate 
structural element. 

 

B 

Feed cable in 
direcƟon 
indicated by 
the arrows on 
part. 

To reverse 
direcƟon, 
press tab (see 
point C) 

C 
 

Pendant/Suspension	Installation  

 

Pendant suspension installaƟon is via a single eyebolt fastened to the standard bracket. Fixture orientaƟon 
shall be fixed horizontally, but Ɵlted orientaƟons are allowed. See the secƟon on “OrienƟng the Fixture”. 
When posiƟoning the luminaire with respect to the bracket, keep the bracket installed, as close as possible,  
verƟcally over the center of the luminaire. 

It is recommended that the eyebolt be affixed to a hook or link with a locking funcƟon. (See point A). 

*opƟonal accessory: an addiƟonal set of galvanized cable with gripper to help orient luminaire (see below for 
more informaƟon). The direcƟon the fixture is facing can be fixed by using an addiƟonal set of cabling. The 
cabling can be fixed to an appropriate structural element. The gripper (see point B) has its designated feed 
direcƟon. 

Please, do not disassemble the cable gripper assembly. CriƟcal components may dislodge from their normal posiƟon and 
may cause the gripper assembly to be faulty. 
For all other issues regarding installaƟon of the suspension kit, please contact Lumigan Technologies. 

Towards Ceiling 

A 

OrienƟng the Tilt of the Fixture:  
Bracket is secured in place on both sides of the fixture by the supplied (6 sets) of 1/4”-20 bolts, nuts, and/or 
toothed washers through the shown bracket holes and slots. If the nuts are of a serrated flange type, 
toothed washers are not necessary.  The bolts are pre-assembled into the fixture.  
Install the fixture to the bracket and orient accordingly, using the proper equipment to aim the fixture. Tight-
en the nuts to the appropriate torque to secure the fixture for its final installaƟon. 

Support the fixture during all steps of the installaƟon/orientaƟon and follow all applicable installaƟon codes. 

5° 95° 

Bracket 

Hex Nuts (6) 

  



 

5/10/2023 www.lumingen.com 

 

 

 

Bracket	Mounting	Installation  

Proper installaƟon: 

The following bolts, nuts and washers are not provided with the fixture.  

Install one 5/8-in bolt and the respecƟve nut and washers (See Point A) through the center hole. Install two 
3/8-in bolts and the respecƟve nuts and washers (one set for each slot, see Point B) .  

The surface of the bracket near the bolt holes should be installed flush to installaƟon surface. 

Adjust for proper orientaƟon of the bracket. Tighten all bolts to the appropriate torque for each bolt. 

Safety cable may be installed with the fixture for addiƟonal installaƟon security. Safety cable must be 
aƩached to the appropriate structure and slack must be removed from the safety cable for it to funcƟon 
properly. 

OrienƟng the Tilt of the Fixture:  
Bracket is secured in place on both sides of the fixture by the supplied (6 sets) of 1/4”-20 bolts, nuts, and/or 
toothed washers through the shown bracket holes and slots. If the nuts are of a serrated flange type, 
toothed washers are not necessary.  The bolts are pre-assembled into the fixture. 
Install the fixture to the bracket and orient accordingly, using the proper equipment to aim the fixture. Tight-
en the nuts to the appropriate torque to secure the fixture for its final installaƟon. 

Support the fixture during all steps of the installaƟon/orientaƟon and follow all applicable installaƟon codes. 

5° 95° 

Bracket 

Hex Nuts (6) 

A 
B 

B 

Support the luminaire properly during 
installaƟon. 

The hole paƩern in the bracket contains 
one center hole and a slot paƩern  
surrounding it. 



 

5/10/2023 www.lumingen.com 

Pole	Mounting	 Installation  

LUMINAIRE 

SLIP FITTER 

SLIP FITTER 

LUMINAIRE 

Proper installaƟon: 

Support the luminaire properly during installaƟon. 

1. The SLIPFITTER  can adapt to a 60mm POLE. Seat the SLIPFITTER as far along the POLE, as possible. 
Both clamping bolts (see point A) must make firm contact with the round face of the POLE. 
2x clamping bolts and 2x jam nuts are used to secure the SLIPFITTER. 

 
i. With the SLIPFITTER fully seated onto the POLE, Ɵghten both clamping bolts to fix the SLIP-

FITTER (see point A) . 

ii. Tighten both jam nuts (on the clamping bolts) against the SLIPFITTER (see point B). 

 
2. OrienƟng the Tilt of the Fixture: 

Use the appropriate aiming tools to orient and adjust the forward Ɵlt of the LUMINAIRE. 
i. Each M6 hole posiƟon in the paƩern Ɵlts the fixture by 10°. Maximum upward Ɵlt is 90°. 

Maximum downward Ɵlt is 30°. 
ii. AƩach the center M16 bolt (see point C) to the LUMINAIRE and SLIPFITTER and adjust for 

forward Ɵlt. 
iii. AƩach the M6 set screw (see point D) to the LUMINAIRE to fix the Ɵlt angle. 
iv. Tighten all bolts to the appropriate torques. 

LUMINAIRE should be posiƟoned with the BRACKET close to center (see point E). 

Safety cable may be installed with the fixture for addiƟonal installaƟon security. Safety cable must be 
aƩached to the appropriate structure and slack must be removed from the safety cable for it to funcƟon 
properly. 

E 

POLE 

POLE 

0° 

+90° 

-30° 

B 

BRACKET 

Proper posiƟon of the Jam nut 

A 
C 

D 

    

    

    

1  2  

    

Tilt Range of Pole Mount 
Bracket 



 

5/10/2023 www.lumingen.com 

Suspension	Kit	Installation  

           Loop around  
appropriate  
structural element. 

2 

 

1 1 

Supplied Hardware: 
· Cable to loop around structure 
· Gripper Assembly, pre-assembled to 

luminaire 
Slide the Cable through the top of the 
Gripper Assembly. Gripper allows cable to 
move in one direcƟon only. 

To slide cable in opposite direcƟon, hold 
down  the top of Gripper (see point A). 
Once adjustment is complete, release the 
top of the Gripper. The Gripper will secure  
then secure the Cable from slipping out. 

Tie up and secure the excess cable. 

A 

NEAR STRUCTURAL ELEMENT 

Part of the suspension kit is assembled into the luminaire. However, if for some reason the suspension kit 
not completely assembled into the fixture. Follow the following procedure to reaƩach the cable into the 
luminaire.  

Please, do not disassemble the cable gripper assembly. CriƟcal components may dislodge from their normal 
posiƟon and may cause the gripper assembly to be faulty. 
For all other issues regarding installaƟon of the suspension kit, please contact Lumigan Technologies. 

1 2 3 Top of Fixture Top of Fixture Inside  of Fixture 

Normal Seated PosiƟon 

Ø6.4mm Hole 

 1  2  

    

 


